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= ~
The simple interest a p.a. on a deposit f@ears s Rs. 4,000. If

the interest is compounded on an annual basis, how much more will be
the amount of interest?

10% Ufd 98 @1 & 1 2 a9 & ferg fobit ST A IR IR0 15T 4,000 0
¢l ale gt 3HIUR UR dhdia TS TRIT ST, A1 sATS i AR fbaHl

s. 200
b) s. 240
C) s. 220

d) s. 190
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10 men and 5 women can do a work in 60 days. If one man can do the
work Wmmen, how long will 5 men and 20 women take to complete

V-r_\’
half of the work? 5‘x£+20xl%
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The monthly salaries of P and Q are in the ratio 4 : 3. If P and Q get an increase
of 10% and 5% of their existing salaries respectively, what will be the new ratio?
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Find out which of the following sets form co-prime numbers.
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In a class G@){udents, the number of boys is twice that of girls. One-

sixth of the boys and one-third of the girls failed in the final examination.

Find the percentage of students who passed the examination.
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d) 1.23%
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f'_\.

15 persons can complete a work i 60 ddgys. If the number of persons is
increased by 5, how many days earlie

5 offarer 60 f&-1 H U &TH U1 IR Javd! & | Jfe ofaqal ol o H 5 3R
| D1 i DI Sl &, I P fha- G Yed U7 gl SITu?

144

Ei) ) days
t)) ays
) days

d) ) days
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T3 Bl MRIB! HH T AIRUT Dy

Arrange the numbers In descending order:

e —

2V11, 4\3, 315, 512

e

V2, 4V3, 3V5, 2111
b) \5, 43, 5V2, 211
C) V11, 4V 3, 315, 512

d) V3, 315, 2911, 52
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Evaluate: (sin 30°/cos 45°) x (sin 45°/cos 30°)

Oy ™

Jﬂgulch sol| (sm 30°/cos 45°%) x (sin 45°/cos 30°)

C) /2

N3
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Find the mode of the following data :

FgfciRdd Se1 &1 dgad 1d HIfor:;

s

b0 —2

=

a)
A
—c) .

- d)




/@ %déedmdz// FOR MORE DISCOUNT VISIT www.mahendras.org & use PROMO coDE : E06321 /

The length of a rectangular board (s 4 tipes that of its breadth. If the area
of the board is 256 sq. meters, find its length.

U PR dls P <r1'as:||5r sﬁcﬁ“ ﬂa{%‘ﬂ T g1 e d1S &1 &A% d 256
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The sum of the three numbers is 392. If the ratio of the first number to the
second number is 2 : 3 and the ratio of the second number to the third number is
9 : 8, then the third number will be —
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Speed of a boat in still water is@mph and that of the current(is 3 §mph.
A man rows a boat upstream up to 135 km and returns downstream to the

starting point. Find the total time tgKen for the entire journey in hours.

[RR St T U 419 &f 71fd 12 /4el & dYT 9RT bl 71fd 3 fhdl/der g1 Ut
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4
If x— =10, then find the value of * jl :

\

A) 100 (B) 102
(C) 106 (D) 98
L
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The LCM of two numbers ig 315 and their I—\I(;E/i\s@lfthe sum of the
numbers is 80, then find their difference?

N _ -
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A s 50% more effigiant than B and 60% less efficient thap C.JIfAand C
can finish a job .

'j ys, then in how man can B finish the job
working alone? Go A

. ) 5 _
A, B @ a1 H 50% 3HftId <& 8 3R C DI JaFH60% ®H q&f g1 afe A
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If the circumference of a circle@m greater tha r, what will be

the diameter of the circle?

afe T g i uRfe 38 o 1 18.6 AT 31fed ©, Td 9o DT AT 1 G2
o — 20 =184

a) 68 cm
b) 84 cm
C) 54 cm

d) sscm
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A boy has few coins in denominations of 50 paise, 25 paise and 10 paise
in the ratio 1 : 2 : 3. If the total amount of coins is Rs.6.50, the number of

10 paise coins is ‘?/
Uh dodh U 1:2: 3 T 50 U, 25 U 3R 10 U & Heg &
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The averageofn.(n+ 1), (n+2), (n+3), (n+4), (n+D5)is-

"‘

n, (N +1), (N +2), (n+3), (n+4), (n+5) DI AT R 52

a) +2)
b) n + 5)
c) -~

a
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The value of is 4 /15612 + Hh4 225
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A, B and C are shareholders in a company. In any one year, A got 1/3 of the
profit, B got 1/4 part, and C got Rs. 5,000. How much benefit does A get?

A B3R CU®H HU-l H ArSieR o | [HUl Ud gy H, A 1Y BT 1/3 [651, B 1/4 [5541
3R C 5.000 TUY UId Bl g |, A [ a1 ary Ud-&3dis

| N
L mtfﬂl =
1,000

-3 ¢ © M

. 3,000

d) 3. 9,000
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The three different vessels have different quantities of milk and water mixtures,
measuring 403 liters, 434 liters and 465 liters. What should be the largest

measurement (in litters) so that all the different quantities can be fully
measured?
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